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| KUET Admission Test 2014-2015

01. @3 AR craws My 9 7@ wfer 1@ A = 3i—2j+5kaRB=i+6j—k I
(@) 10.95 sq.units  (b) 17.6 sq.units () 17.66 sq.units  (d) 15.74 sq.units  (e) 18.97 sq. units

AAYE: (¢); A x B = —281+ 8f + 20k -~ |Ax B| = V282 + 82 + 202 = 35.32?
|E x B

~ Area = = 17.66 sq. unit.

02. mﬂmﬁwwmmm (T 30m AR GF0 JOIFR T @IS oz | ©its Taraa A F9 @i

(L AT J7?
(a) 8°36’ (b) 7°56’ (c) 8°56' (d) 9°2' (e) 8°41'
2412
AMGE: (a); V= 24kmhr~! = 22 ;ms—1 . tang = Y - —(—E‘i =.15= 0 = 8.59' = 8°3¢'
3.6 rg 30x9.8 :

03. GG A TR 25 X 10%kg A1 50m TSI FA (A TS A | T FI! 70% FES (A AFS HUO! F67

(a) 4.06MW (b) 4.86MW (c) 2.38MW (d) 420MW (e) 238MW

70 _ mgh _ 25x10°x9.8x50 -

T (b); P X 72 = == = =—————"= P = 4.86MW
04. 30°C SOy g A o% IRE SHFSIE WHerEa Wi 72 ﬁ@wzﬁl POIR Sl F67 [y = 1.4]

(a) 122.9°C (b) 410K (c) 126.81°C (d) 395.6K (e) 127°C

TAEE: (c); T, VY™ = T,V) 7'=303 x 2°4 = T, x 1°*=T, = 399.81K = 126.81°C

05. 1.4m WY €3 107°m? oFTRTTA I AW 4167 ©F G 4 X 10~3m RS IS TS FET ARG F5?2
[Y =2 x 101"N/m?]

(a) 1.066) (b) 1.143) (c) 1.15N/m? (d) 1.143N/m? (e) 1.066N/m?
ey _ YAR  2x1011x(4x1073)°x1076
TR (b); W = —— = — = 1.143]
06. =S¥ 9 TTT S 80 @ W2 SIAR AP AT 12800km @2 3200km | 55 oA SfeTEe G W 597
(a) 163 cm/s* (b) 1.7 m/s? (c) 196cm/s? (d) 1.9 m/s? (e) 1.64 m/s?

GM My R2 1x128002
WW()E"R—:}E—m_ m-e . 5m _ —5

ge MeRZ, 98  80x3200Z  &m
07. 36 *I7 o7 TETA AW 0.25cm 932 F™E 400Hz | ISITT 37 (@) 332m/s R YA 99g 1.293kg/m? A
S Gt 2fS 3G aqifts fe 392
(a) 8.5 kW/m? (b) 8.99 kW/m? (c) 8.99 W/m? (d) 8.47 W/m? (e) 8.47 kW/m?

? Y
FALA: (€); | = 2n°f2a’pv = 2 x n2 X 4007 x (22) x 1.293 x 332 = 8.47kWm™2

08. O CIfIFTH *THa SIFST 10~7W/m? | *twa SIgel faed o Sige! (#tes T F(J?
(a) 53 dB (b} 53 01 dB (c) 55.06 dB (d) 53.02 dB (e) 56.93 B

TAG: (b); B = 10log >—=* = 53.01dB

09. G FARGA 2RI ﬁ?@imm SRTE 0.53 A JrmdR @b IR d 4 x 10°m/s @ emfsd @)
FERRET (YR I T F97?
(@) 274 x 107N (b) 2.75x 10"'N  (c) 1.46 x 10°'N  (d) 2.91 x 10~ (e) 291 x 10~8N

mevz 9.1 111D'31x(4:-:1ﬂ‘5}

— =7
TNYH: (b); F, = TP = 2.75xX107’N

10. Unzmwéﬁﬁlﬁ 64 o N FioIe WTfae @ @I T @FBR “fde T = 1 26 @FEr 10 5
[T AT, T2 90 (@ioe o7 5@ 31?
(a) 7.2 x 108V (b) 8.4 x 10°V () 719 x 102V (d) 7.08 x 101V (e) 8.19 x 1010V

T (€); R = YNr =R = Y64 x .02 = .08m; Vg = - —=3=9x107 x =2 = 7.19 X 1012V
o

TR | |

= 1.96ms™% = 196cms 2 :
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11. 22cm? (Faee (¥ a0 oT9ea B9 0.01mm =F FF 2Atae e 2031 I9%© ©feR 2RZAM@ 0.1A T(E, F©
AT 4T3 SO 2J1RE FACe FA? FAE ©feR IHAS Tei® 1.118 x 10~ °kg/C O3 FAR 99g 10500kg/m? |
(a) 34.44min (b) 35min (c) 35.23min (d) 34min (e) 36min
ANY: (a); W = Zit = pv = pAl =1.118 X 107 x 0.1 X t = 10500 x 22 X 107 x .01 X 10™°m
= t = 34.44min

12. @3f6 TGS 1.015s U ©fee &1% 0.1A (AT 0.5A @ *FAES 26T @ FTawS 12V SeewEs *fE wie
T | FOE0F TR I GAE F© Z(I?
(a) 25.38H (b) 25. 4mH (c) 30.45H (d) 28.5uH: (e) 26.2H

HATYE: (c);

13.* 0.56Am? cﬁw—mﬁﬁﬁrﬁmnwb uww'\ﬂﬁ—ﬁaﬂmm catet fate fate of afs 0 w111 o fmEm @a
& FEEA GOO[E I T 9 1[H = 32uT]

(a) 4.6 X 107°Am? (b) 5.8 x 10~°kgm? (c) 45.39 x 10~ %kgm?
(d) 4.54 X 10~5Am? (e) 4.6 x 10~*kgm? |
HNYE: (c); T = 2n M-}:% = 2 .55;33,;—"' = 45.39 X 10~ 6kgm?
14, @M SRS caifbe 99 offs GBI 5000 @ FtaTz | @3 fowr fama 58904 Wt tardra st (it @@ bac
G T (I FS?
(a) 36.13° (b) 36° (c) 35°22' (d) 36°5’ ~ (e) 35.98°

SNIYE: (d); sinf, = NnA=>sinf, = 5000 X 102 x 2 x 5890 x 10~1? = 589=0, = 36°5'
15. G BAfErSa ALEe TS ATANS HIE | @7 [FeoAes 21a1% 0.88mA 932 g 212 0.065mA | 2F1% 7947 @o T97?

(a) 0.942 (b) 0.93 (c) 0.95 (d) 0.96 (e) 0.926
HAYM: (e); Ig + Ic = Ig=>.065mA + I = .88mA=I. = .815A =~ a = ;—; = 2= =0.926
16. &rRfEs S8 @W IBATT IM 108 2qF Aul?® @F [y ATF, SIEE GIFME FO AT (S0F TI? Aul?® @3
w4Y 2.74d.
(a) 2.27 x 107 (b) 7.73 x 108 (c) 7.76 x 107 (d) 2.235x 107  (e) 2.486 x 107
ster: (d); At = In e = M x t= 2> = 22 % 1N = 7.765 x 107 = AN =N, — N = 2.235 x 107
17. RRGICE ﬂmﬁaﬁ—ﬁﬂmﬁwmmﬂmaﬂﬂ
(a) 2.13A (b) 3.14A (c) 2.13 x 10~°cm (d) 2.45 x 10~°%m (e) 2.65A
2
T (a); r o< d? = 2 = :g_.; - T, = 2134

18. O TRPUBIAT 30 IZF WA 2.6 X 10°m/s (@ (IR TSR 5T RN S ¢oirer | fof 55 I=7 ==
RIS T3 ST | O I8N T F67?
(a) 60 yrs (b) 58 yrs (c) 57.44 yrs (d) 58.2 yrs (e) 56.58 yrs
ATYE: (C); t = ==>55 = 0 st, = 27.44years .. IOAE IW7= 30 + 27.44 = 57.44 years
ey
19. 379e B e Sfore e @S5G 989 AN Y = 10 sin(12t — n/6); GAMA Y OF UFS (014, t UF 9FF FILI T UL
W1 FATT AT rad | IGHI HEH TS 367
(a) 10m/s (b) 12m/s () n/6 m/s (d) 120 m/s (e) 120cm/s
FYE: (d); © = 12rads™, A = 10m; Vo = ®A = 120ms™?
20. (@I G MRS 20°C @ WTAfES Sael 75%. & e 7@ IR TS 019 $97 [20°C ST T2E
T AT B9 17.7 X 1073m]

(a) 17.7mm (b) 17.7 x10™*m (c) 23.6 x10°m (d)23.6x 10™*m (e) 23.6 X 10~°m
T (e); 0.75 = L7220 o F = 23.6 X 107°m

N ECCH ¢
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21.* 100m* CFIFTTR OFT FHIE 1000°C SowEw ofs onre & ofme «fe RiFd s9=®? [0 = 5.7 x
1078W/m?K*]
(a) 14.97MW (b) 7.48 X 10° MW (c) 2.85 x 10°MW  (d) 45.6MW (e) 7.48 x 105W
AN (a); E = AeoT* = 100 X 1 X ¢ X (1000 + 273)* = 14.97 x 10°MW

22. Qb IFCF 50m/s @ FTSAET AN 45° @M s 391 203 T4 Toorg Site 9 97 e ?

(a) 1.8s (b) 3.6s (c) 7.2s (d) 9.8s (e) 36s
TAIY: (b); t = g“ = 22 = 3.6sec

23. OV 4OF AT & 2cm W2 *FG 0.4cm | S KRIPIA O 7 999 G0 GIFF CF0@ ATSHBLE AT 500V
e3 “deer e 31 == ofer cvtgm T Tw? -
(@) 50pV/m () 50 x 10™°uV/m (c) 25 x 1073V/m (d) 2x 1073V/m  (e) 2.5 x 10~3uV/m
Y (c); V = Ed=50p = E X .02=E = 2.5 x 103Vm~!

24. O3> FCST AT FT WGoTF 72 ASTAAI I g A 125 @32 10cm | ﬁﬁmﬁ\ﬂﬂmﬁﬁ?

A O 7?7
(a) 125cm (b) 25cm () 10cm (d) 13.2cm (e) 132.1cm
TG (€); L= fp + =€ =125 + = 132.1cm

25.  5x 10'Hz Iz RiTad @MW 4ro3+m wieifow 2= Jdm 2.6 x 10719 wﬁ;w?ﬂ:ﬁﬁﬂ ffe =1 @ 4rgz
o+ FE F6?
(@) 1.078 x 10"*Hz (b) 1.078 x 10'*Hz (c) 1.078 x 10'5Hz (d) 5 x 10**Hz (e) 2.6 x 10191z
AT (b); hf = hfy + Egmay, = h X 5 X 10'* = hf, + 2.6 x 10719=f, = 1.078 x 10Hz
26.  27°C SO[7W@T® 31.50gm HNO; aff® 1200ml #if4re wdrge 41 261 wadfbe =fe Tar i o 2@?
[“1f"= 9= 0.9877gm/ml]
(a) 0.41molal (b) 0.42molal (c) 0.60 molal (d) 1.66 molal (e) 0.21molal
A (b); 1000W = mWM =1000 x 31.50 = m x (1200 X .9877) X 63 =m = .42molal
27, G0 MR ARE ©F 32 A F© SIS TF A0 35195 78 I8 2f6 Gt 50550cm 212
(a) 327.76°C (b) 54.76°C (c) 273°C (d) 52.76°C (e) 27.38°C

ANYA: (b); Cyre = %1:505.5= JZZij;”:

28.  WfHTECTA 8% TG Wtk | MTHA (FIH O/ SARTIZ SIHCHAT STTGA ¥/ TG T Hoy?
(i) 15% I T 2T ARG & BTG T ST TG (1,0,0, + ) et (1,0,0, - 2)
(i) SETETTa (ABw 747 8 ME zrene fSGaa 7247 8 fAfe® =1
(iii) g4 TSI 72T, S, BIFF CF IERRET BIFT ANS N0 6 |
(a) i (b) i,ii () i, iii (d) ii, iii (e) i, ii, iii
AL (b); (i) 3197, (ii) 37, FE9 0 97 isotope ﬁ‘ﬂ‘t‘lﬁ (iii) o7 7, SR s Yira s [oes s
29. NaOH 99 & Bated 99g 1.10gem ™3 | ¥ReIfB7 Sw1an 0.1M Z0e HReIfBTs =roasat 3@ ©f (S3) #/if Sire?
(a) 99.60 (b) 89.40 (c) 99.64 (d) 89.44 (e) 96.36
HFATHF: (¢); 100cm® B9 ©9 110gm
ST, 1000W = CMV=51000 X W = .1 X 40 X 100 = W = .4gm W4 ©ITS . 4gm &< S|
-, S o sifawne = 11‘:“ x 100% = 99.64%
30. @6 T T FIAT TIA H, S ST BRI FCH AW SYTHA #1GT 1T | TR TR0 T I 41gBa T
o Fa?
(a) Ni (b) Co (C) Mn (d) Zn (e) Al

T |

=T = 327.76K = 54.76°C




fBfaei<e Bm ongee e f @ ﬁ 8 KUET, CUET, RUET &1 3 IS

BEIRIGH (d): Zn504 + NaOH = ZH(UH)E + N32504 ;'Zn (OH)E + NaOH - NﬂzZﬂOz + HzD
Na,ZnO; + H,0 + H,S — NaOH + ZpS |

31, <o fEq O 100kPa 51T7 2.24dm? @36 #1t@ 14.0gmN,, TR ALFETAETS! QAT 0.10 203?

(a) —3.64°C (b) 265.72°C (c) 269.36°C (d) 538.7°C (e) —273K
100 .
STAC: (b); Z = e = .1 = DB —— 5 T = 538,72K = 265.72°C

32.  10mg'*C Gite MegEe ©F 997
(a) 432 x 10~°kg (b) 5.04 x 10~%kg (c) 5.76 X 107%g  (d) 5.76 x'10 kg  (e) 5.76 X 10~°mg
ANIYIA: (d); n = ﬁ = I—EEE = 7.1428 x 10~*mol ; {EG"-» 14 — 6 =8
-, fAChEa ©9= 8 x 7.1428 x 10™* x 1.675 x 10728 x N, = 5.76 X 10~%kg
33, 33°C S[%El € 2.55atm Bt 16.50% PCl; REifErs 1 ©F Siemay Ky @9 I 397
(a) 7.13 x 10~ 2atm(b) 7.48 x 10~2atm  (c) 3.74 x 10~%atm (d) 7.13 x 10~3atm (e) 3.56 X 10~ %atm

ANYIE: (a);
PCl; (g) = PCl;(g) Cl; (g)
t=0 100 0 0

AT — 83.5 16.5 16.5
. (B CETeli=116.5

16.5%16.5 2.55 2.5 =
~ Ky = x 222 = 222 =713 x 1072
83.5 116.5 116.5

34, ﬁmﬁﬁﬂrﬁa [NH;] @7 erafEs wmat 0.75M @3 RiFafos wdrere 30 ﬁﬁwﬁﬁwﬁammw@?
2NH,; — ©e94W (Product)
(a) 7.40 X 10" *mol !min™? (b) 7.40 x 10~ *mol~1sec™? (c) 0.023mol 'min™?
(d) 3.85 X 10~ *mol~sec™! (e) 0.0444mol 1sec™?
AL (b); 9FF @A @R I GfS 2nd order RfeFam

ty /2= ﬁ — 30 = ——= K = 0.044 mol~'min~! = 7.4 x 10"*mol~sec™?

kx.75
dx d "
Alternative: @5 2™ @@ - -==k X% = IE ___.-.: =k [ *dt
ak=——= : =7.4%10"* mol lsec™!

tyzxa  30X60X0.75

35. 35.5gm @IS AEE & SHFSR SUE AN (FHH?
@) (P+-)(v—3) =RT (b) (2P +-5) (2V — b) = RT

2Vv?
() (P—3)(2V—b) =RT @ (P+=25)(V-3)=RT
(e) (P +55) (V — 2b) = 2RT

stn: (d); (P + =) (V—3) = RT [35.5gm Cl, SA & n =]
n‘a a b :
(P +22) (V- nb) =RT= (P+=) (v-;) = RT
36. P65 QT SR H]9 AlE FBARE AE 01 Gre AgNO; U9 Tag B39 Q@IS T4 A AT WYTHFA NS

Tt A A T 39.25 1 AiBTS 2RWE e w9 T AR e Qe Seoim =1 @AifoR sfiefae s
fera

0 0
(a) CH; — E —Cl (b) CICH, — EH (c) CH;CHCICH;  (d) CH3CH,CH,Cl  (e) CICH,CH,NH,
AL (b); OFI OBI1R THY G2 FF S T |
37. (@ STFE (Chrome Ochre) &FHH? [Ans: ]
(a) FeO.Cr,0; (b) PbCrO, (c) Cr,04 (d) NaCr,0- () Cr,0s




i e ST U

38.  pH =4.60 42 @36 T TId 2FS TS @ TS 7T ¢ BT AMITS I wie FIWFTE TeTe T©?
(7S =TZ pKa = 4.75)
(a) 0.708 : 1.0 (b) 0.604: 1.0 (c) 0.907:1.0 (d) 0.599: 1.0 (e) 0.804:1.0

TG (a); pH = pKa + log ook =54.6 = 4.75 + log ool —, [Saltl _ 708

[Acid] [Acid] " [Acid] 1

39.  FIRGRAAE B9 8 HCl A=A T8¢ T2t i Teoiy 23?
(d) CﬁHE (E) CH3 — CHE - NU - CHE - 'I:Hg

S
AIYE: (c); CH; — CH, — NO, ﬁ’ CH; — CH, — NH,

40. @D I TYAH 92% CaCO; SR | 7Y HCl @ 100gm RHI#1RE Brgs FE STP (S I FBE CO, ANeT E?
(a) 22.40L (b) 21.50L (c) 20.60L (d) 32.25L (e) 24.37L
AL (¢); CaCO3 + HCl — CaCl, + H,0 + CO,
100gm CaCO; @ CO, famya 22.4L

£ 92gm ) =2 X 92 = 20.60L
41. TSRS FATCFG B T4 3.25 ampere Rpe I Bl F4teT 4.405gm f&e 7e® TI? [At. Wt. of Zn = 65.40]
(a) 33.33min (b) 66.66min (c) 1999.91 min (d) 99.99 min (e) 62.65 min

4.405
65.4

FATYE: (Db); Q = neF =2 3.25 xt =

42. 0.02 M NaOH %3099 pH &=6?
(a) 1.69 (b) 8.77 (c) 12.30 (d) 13.31 (e) 13.98
ATLH: (c); pOH = —log(.02) = 1.7 ~ pH = 14 — pOH = 12.30

43. HCN @32 NaOH 99 &« =& —12.134 k] /mol. HCN @3 Srafaeae a2 67
(a) —=57.23 (b) +57.23 (c) —45.096 (d) +45.096 (e) +12.134
FAYE: (d); &N GHAEAN =—57.34K] + SAAEA G
" FABAY @HAEH = 57.34 — 12.134 = +45.096k]

44.  30°C ST FTIe IFRES (FI0Ea ofe 5es 39 672
Pb|Pb?* (1.0M)|| H*(0.4M)|H, (1atm)|Pt [(T6HI ©ITZ ED, 2+ spp = —0.14V]

(a) 0.1165V (b) 0.1170V (c) 0.1155V (d) 0.1161V (e) 0.1175V

() - T RT [Po?*]
AT (d}, ECB.I - EEEH - F ]n[H'I']EPHz = +.14 + 0 — 2%96500 "

45. 350 — 400°C S @E ©&E Al,0; @UIF &7 A& CH; — CH, — CH,0H U9 It Slel FA0 & S 21?
(@) CH; — CH, — CH;(b) CH; — CH = CH,(c) CH; —C=CH (d) C,H, (e) CH, = CH,

X 2X96500 =t =6666min

8.31X302 1
In—
d4x1

=D.1161V

Al-0 .
AI4I: (b); CH; — CH, — CH, — OH % CH; — CH = CH, + H,0

46. 100dm30.3M HCI €32 200dm?®0.6M H,S0, 9w fif¥e wat == 1 gadfoa @enfE® 37
(a) 0.45M (b) 0.6M (c) 0.9M (d) 0.25M (e) 0.4M
AATYH:.(C); 100X 3 X1+200x.6X2=300XxMx1=M=0.9M
T 7 o ufie faffe e oo Frdw affites sters el @@ 39 T@E)

47.  650mm B1% 8 30°C S N@AF 950ml N FO0 M Y HWTZ?

(@) 0.1972 x 102*  (b) 1.9672 x 1023  (c) 1.9426 x 102*  (d) 1.9426 x 10?2  (e) 2.0112 x 1023

FAMLE: (a); PV = —RT = 20x 3% N 00821 x 303 = N = 0.19672 x 1023
Na 760 1000 Nj

R ) | ST
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48. @I memﬂﬁqwﬁﬁmw QfET F130e aamqmwwmﬁrw CF SIS ¢ie, T &Y
HCl &3t Bg® = 7l | T F09F B3 (@1 T TARFS wirg?

(a) CI- (b) S%- (c) SO3- (d) F~ (e) CO3~
HCI
AAYE: (¢); SO5~ + Ba(NO3), — BaS0, + 2NO3
[
49. FEEIN T CF0@ o @ [t Afds F1?
i) Zn/H,0
(a) CHCl;(1) + 0,(g) — 2COCL,(g) + 2HCI(g) (b) CHCl; —— CH, + HCl
Zn/HCI '
(c) CHCl, —, ¢H, + HCl (d) CHCly + HNO3 — CCly — NO, + H,0

(e) CHCL; + 4NaOH(alc) —» HCOONa + NaCl + H,0

s1gE: (c); B R cHel, i CH,Cl, + ZnCl,

50. foea @it wAfes 797
(a) Fe — 3e = Fe3* (b) Fe3* + 2e — Fe* (c) AI** —e - AI?* (d) Fe?* — e — Fe?* (e) Zn?* + 2e > Zn
AAIYE: (c); AP + e~ — Al%Y

51. 3w £:RY - RM &/ f(x) = x? 3f6® =7, ©F £~1(25) 93 9 67
(a) {—3,3} (b) {—4.4)} (c) {(=7.7} (d) {2,-2} (e) {5, -5}
ATGE: (€); 25 = x> =2 x = +5

52. (a+Vi—a?) +(a—VvI—a?) @3 THFS?
(a) 2 + 24a* — 24a* (b) 5 — 7a + a° (c) 9 — 8a + a* (d) 7+ 15a* —a* (e) 11 —9a + 8a?
TAIYE: (2); a = —1 IFCT T A (a)-2 T HIH A |

53. “Examination” %o 2re 410 srwa et oitas =it ¢ ey 73y +% 3?

(a) 147,2324 (b) 136,2463 (c) 3021,226 (d) 2150,215 (e) 334,2354
AAIYH: (b); Exmto; aa; ii; nn
AT a7 8C, x 4! = 1680
47 fox — 8¢, =70 3%, x "C; X 2 =765
3 7 h— '
26 same + 26 o —» 3¢, x C, = 63 3¢, xz_‘:;= 18
2 {6 same + 2f6 same - 3Csi = 3 i
= 136 = 2463
2 -3 705 .
3205 1 u s ;
54. |3 7 g7 4| PR 1" @3 ARGeIE ZeA-
0 -7 k 7
(a) u (b) k (c)0 (d) —935 (e) —297
2 -3 5
AAIY: (€); 1 99 A8 4F= — —1 4| = 0 [use calculator]
0 -7 7
55. k@A A (k? — 3)x% + kx + (3k + 1) = 0 FAw907 Terafe oiaiza Teo1 3?
(a) 3,11 (b) 4,—-1 (c) 4,7 (d) 5,—3 (e)1,-7
TG (b); 47, T o, — 5 ~ o= = iff; = kZ -3 =3k+1

= k?—-3k—4 =0 = k = 4,—1 [Calculator]

s6.4 o4 o4 224 oy qrifBw @ie 2
();(e —Ze-i-?) (b)E(?rE —-7) (c) (e* —7e+1)
(d) = (5€? — 7e + 11) (e) - (3e? — 6e — 1)

R ) 2 O




TR} g §

TAGE: (€); S =2+ 24+ 224 L Fotod =Gt (GH+o++)

=H{@+1+242)+ (1—1+—,——-)+) 2}+2 {(1+1+E+§+'")+(1‘1+E__+ )2}
1 1

2 {(1+ 14242 4) - (1‘1+7—‘+ ) -2}
-1_ 2_

=«e+:=:2 2+E—E_1—2=E+1 ze;:e 2-4e _ (3E —6e—1)

57. "a" @3 (4 WA & lim asinx—3x ﬂamomﬁw

3

(a) 2 )5 ©) 3 @z (€) 8

FAL: (c); lim ""5”’:3" = lim =225 = ; [La’hospital rule] 2222 _ g = 5 = 3

58. ¥W siny = xsin(fa+vy) ¥4, W:‘E qGg T4 (FR0?
(a) sin?(a+y) (b) sin?(a+y) (c) sin?(a+y) (d) sin?(a+y) (e) sin?(a+y)

tan a sina cosa seca cCosy

AALE: (b); siny = x sin(a + y)
3w a=mn/2TH, O tany = x =#y=tan’1x-'--d£= -

dx 14x%

Q31 Option (a), (e), (d) AR a = /2 RFqre = @3 1 711 @3 option @7 @AW, a = 0 Ty ¥ = S0 _

dx cosy
siny tany,x = 1 & y=£,d—}r=§-, ﬁl@ sin:—rtan5=é,$lmﬁ option (b) 5=

4 dx

59. G @I T ! O Bfi AR AW AT | 7 ©1 BfiE 57 % T 7mm sec™! TS 16mm

(a) 0.7cc sec™ (b) 7 ccsec™ (c) 7cm séc"
(d) 70 cubic mm sec™1 (e) WD 77
AN (a); V = %nrzh = ian = jf = nr::lr =1t X (8m)? X -Z-m = 0.7 cc sec™!
60. y=3x*+4x3 - 12x? @7 -2 < x < 1 AMACS JE® T ZEl-
(a) 32 (b) =5 (c) =7 (d) 0 (e) 16

T (d); f(x) = 3x* +4x3 — 12x%;f'(x) = 12x3 + 12x%2 — 24x =0
=2x=0,1-2; -2<x<1 99 [P O IR -~ f(0) =0

?

61. fxm G T @A

(a) ;SEC'1§ (b) tan~1x (c) cos™1x (d) sin"1x () cosec™1x

Yadx 1 X .
q: = -sec”!-

AN (a 'rxeE_-az fa; o -sec™' =+ :
62. [ — dx 93 T D2

(a) 3In3 + > (b) 2In2 — 1 (C) 4In3 + 1 (d) 5In3 (€) 2In3 + 5

ITAG: (b); f, = dx = f‘(l—j-;-q)dx:zlnz—:t'

0

63. OP mwwmmgmmwww 0Q! P 93 g% (—/3, —3) T Q 97 (Al BT

m.
@ (-235) () (-2¥3, () (2v3.5) (d) (2v3,%) (e) (2v3.%)
(017 (-9 = (25-3) - 0m (NE-2-D) = (48 2) = (352

64. 3x + 4y = 7 Q¥R AN €32 (1, —2) T 209 7.5 9a% 91z w1HS 76 @LE AN @2
(@) 3x+4y =7 (b) 4x+ 3y =9 () 7x+y=11 (d) 4x + 3y = 20.5 (e) 3x+ 4y = 32.5

|3-8-K]| _ _
AAYIE: (e); 3x+ 4y =k; m—75ﬁ|k+5|—375 = k =325,—425 . 3x+ 4y =325

e SR




BRSO & |

65.

66.

67.

68.

69.

70.

71.

72.

73.

KUET, CUET, RUET &g 3 714

(2,3) @T ¢ 6 9T M {2 I3 =21 x Wewa AfFoe S iy T=-

(a) 4 (b) 24/10 (c) 4 + 24/10 (d) 6 + 2v/5 ()0

ANEE: (e); (x—2) 2+ (y—3)2=32=2x’—4x+4+y>*—6y+9=9
S>xl+yl—da—6y+4=0 . Ao =2/4—-4 =0

A6 TAILSA TGS o7 T FY WCH T | 8@ (0, 1) 77 ey wieerw et Sz lwad fAefa w211
(@) 3x2+y?=16 (b)3x*+y?*=11 (c)x®+y%2=9 (d)x2 +9y2 =25 (e)x®2+4y2=4
AAIYA: (e); SLIE (e)72- 2 (0,1) it |

T cosa + sinf = 0, sina — cosp = 1 €32 90° < {q, B} < 180° T, ©F (o — B) =7

(a) 60° (b) 30° (c) 75° (d) 45° (e) 50°

A (b); cos® a + sin? B + 2 cosa sinf = 0

sin® a + cos? B — 2 cosP sina = 1

(+) ¥, 2+ 2 (cosa sinP — cosP sina) = 1
1

= 2 —2sin(fa—B) =1 = sin CH_B)=E ~a=—f=30°
tan(45° + A) + tan(45° — A) Q3 T§ 57
(a) 2sinA (b) 2cosA (c) 2tanA (d) 3cotA (e) 2sec2A

HAATYIA: (e); use calculator
sec’(cot™* 3) + cosec?(tan™! 2) UF A FE7?

13 11 7 3 12
(@) 2 (b) 3— (c) 55 (d)4= () 5=

{10 {5,
AAGE: (a); //1 2; sec®(cot™3) + cosec?(tan™12) = 17: + % = ZE

3 1
9o @I TR I 9T e aIweIR fFaria @« oima @fed TMe SItid AW, GIUFiE e Tqe! @
RLAl-
(a) (b) (c) (d) = (e) =

3

STACH: (d); p? = p? + p? + 2p?cosa = o = =

e T AMGTOT Werawe a3 GFAATE (AItea e 20 fom 7 uslt =% wiew s 2% Iid wite W32 5o
1T 4T3 90 @1 [WE T2 AT BN BT @ W FI wiS 4T @1ioa ATT ©f Seoey (el Jzeres 203 7?

(a) 5v2 (b) 4v/2 (c) 3V5 (d) 4v5 (e) 10v2
S (e); P *If&re 0=
(TTT = P X 10 sin26 p .y
10 sin20 JXG = BT GATeT | Sn ) o|”

£sin20=1=0 =45 ~d=20sin45° = 10vZ m
] = dcosB = 20sinBcosB = 10sin 20

36kg ST A0 I§T O fF Al <=1 & T2 9 WG @9 @9 ToI 15km I 22

(a) 6N (b) 4N (c) 2N (d) 2.5N (€) 5N
15
) a= Y4 _ 36 _5 -2 .p— _ S _
HAAIYE: (d); a = —= 4t =—ms --F—ma-—-Bﬁx?E—Z.SN
"a" O T FS A ai — 2j + k G2 2ai — aj — 4k (587 1fb AFR 7Y I?
(a) 3,1 (b) 2,4 (c) -2,1 (d) 3,2 (e) 1,5

ANYE: (¢);2a* +2a—4=0 =2a=1,-2
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74. WG 2@ G X UHS T A 7 AR ARRAT @B2
(a) - (b) CF (d) = (e) =

36 36
3x2 1

MigE:(a); 7=1+6=2+5=3+4 “P= =

75. A S B TR CAENI (TS TGN 5 8 3 46 5T 432 3 @ 4 ITF JIBTE 0] | A &I 25T (A 10 Bl @ B
2T A (T 12 BIT +11S 41 7B T G (FIIRAG 165 36 AW @ 132 @7 FBI Q@IoT Frs =,
OE AEH (@ &S S ©f ZLEl-
(a) 330 taka (b) 360 taka (c) 420 taka (d) 448 taka (e) 650 taka
AAYN: (C); A - x,B—y;5x 4+ 3y < 165; 3x+4y < 132 = (x,y) = (24,15)

" Lmax = 10x+ 12y = 240 + 180 = 420 taka

76.  Choose an appropriate word to fill in the gap of the following sentence. I have to meet you _ in June at KUET.
(a) sometimes (b) some time (c) sometime (d) sometims (e) something [Ans: b]
77.  What is the plural form of the word "Memorandum"? : [Ans: d]
(a) Memorandums  (b) Memorandas (c) Memorandras (d) Memoranda (e) Memories :
78.  Which one in the following sentences is correct? [Ans: c]
(a) The flower had lost its freshness. (b) The flower has lost its life.
(c) The flower has lost its beauty. (d) The flower has lost its glamour.
(e) The flower have lost its life.
79.  Find the correct compound form of the sentence "Though he is rich, he is unhappy.” [Ans: e]
(a) He is rich so he is unhappy. (b) He is rich that is why he is unhappy.
(c) He 1s rich so that he is unhappy. (d) He is rich and unhappy. ; (e) He is rich but unhappy.
80.  Find the correct passive form of the sentence-"I saw him reading a book." [Ans: c]
(a) I saw that a book was read by him. (b) He was reading a book seen by me.
(c) He was seen reading a book by me. (d) I saw him that a book was read.
(e) He was reading a book that was seen by me.
81.  Choose an appropriate group verb to complete the sentence "You should  swimming." |Ans: a]
(a) start up (b) take in (c) take up (d) take off (e) getup
82.  Fill in the blanks to complete the following sentence. "I want to hear __ howyoumanaged  the dog." [Ans: d]
(a) (about, to) (b) (about, on) (c) (about, by) (d) (about, with) (e) (about, of)
83.  The passive form of "He died of fever" is [Ans: c]
(a) Fever was died of by him. (b) His death was caused to fever. )
(c) He was died of by fever. (d) He was caused to die of fever.

(e) Fever was caused him to die of
84.  Choose the correct word(s) to complete the sentence "I worked hard all day longand __tired in the afternoon.” [Ans: d]

(a) had grown (b) had been grown (c) was grown (d) grew (e) has been grown

85. "I don't know the way. Do you?"- Mother said. The indirect speech of the above sentence is |Ans: e]
(a) Mother said if I know the way. (b) Mother asked if I don't know the way.
(c) Mother said whether I would know the way. (d) Mother asked if I didn't know the way.

(e) Mother asked whether I had known the way.
86.  Find the correct conversion of the sentence "The news was very much shocking to her." into Exclamatory. [Ans: b]

(a) What a shocking news to her! (b) How shocking the news was to her!
(c) What a sorrowful news it was to her! (d) How was shocking the news to her!
(e) What a shocking news it was to her!
87. Choose the meaning of "Riding for all". |[Ans: d)
(a) Horse race (b) Riding fast (c) Pleasure trip (d) Helping all (e) To act recklessly
88.  Which one is the correct indirect speech of the following sentence?- The boy said, "what a terrible storm it is!" [Ans: c]

(a) The boy said what a terrible storm it was.

(b) The boy said with fear that it was a terrible storm.

(c) The boy exclaimed with fear that it was a very terrible storm.
(d) The boy exclaimed what a terrible storm it was.

(e) The boy said with fear that it is a terrible storm.
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89. The tag question of the sentence "Congratulation on ybur brilliant success." is__ [Ans: d]
(a) Don't you? (b) Aren't you? (¢c) Do 1? (d) Don't 1? (e) Do you?

90. Which one of the following sentences 1s correct? |Ans: e]
(a) No one eluded to the misfortune. (b) No one could eluded to the misfortune.
(c) No one could elude form misfortune. (d) No one eluded form misfortune.
(e) No one could be eluded to the mistortune.

91. Which one has the correct meaning of the idiom, "A sleeping partner” [Ans: d]
(a) Husband (b) Wife (c) Bed partner (d) Inactive partner (e) Good partner

92. Choose an appropriate preposition to fill in the blank of the sentence "They won the match hands . |Ans: a]
(a) down (b) up (c) above (d) on (e) below

93. "Speed money" means___ " |Ans: c]
(a) percentage of interest (b) hard-earned money (c) bribe
(d) black money (e) wage |

94. Choose correct preposition to fill in the blank of the sentence "Everyone should have an esteem____ religion."
(a) for (b) to (c) in (d) at (e) none [Ans: a]

95. What is the right form of verb in the bracket of following sentence? The match is (telecast) now. [Ans: d]
(a) being telecasted (b) been telecasted (c) been telecast (d) being telecast (e) telecasted

96. Choose correct words to fill in the blank of the sentence "Bashir ___ for Dhaka the day after tomorrow." +  [Ans: e]
(a) will leaving (b) shall leaving (c) left (d) leaves (e) will be leaving

97. Choose the antonym for the word "Harbinger” | |Ans: e]
(a) Leggend (b) Legend (c) Envoy (d) Wastrel () Dullard

98. The correct translation of “TIFF (FILT (UTF =, G MR A (FIAF?” would be__ |Ans: a]

(a) Where did man come from and where will he go?
(b) Where is man's past, where is his future?
(¢c) Where is man coming from and where 1s he going?
(d) Where was man found, where will he enter?
(e) Where had man come from and where will he be going?
Read the following passage carefully and give answer to the question nos. 99-100.
Stephen Hawking was born in 1942 in an educated family. He is considered the greatest physicist after Einstein. As
his reputation as a scientist soared higher and higher, fate followed with less rewarding things. Stephen gradually
started losing control over the muscles of his body as he gradually became a victim of Gehrig's diseases. Since the
age of thirty, he has been confined to a wheelchair with no power to control his body except for some limited
movement of his head and hands only. he can speak only through a computer with a voice synthesizer that converts
his messages into sound. But such a tremendous physical handicap has not managed to dishearten of slow him down.
Stephen is still relentless worker using his computer to carry out research work as well as deliver lectures. He lives
with his wife and three daughters and he is provided with twenty-four hour nursing facilities by an American
organization for his well-being.

99. What kind of victim was Stephen Hawking? [Ans: e]
(a) He was a victim of Grave's disease. '
(b) He was a victim of Addison's disease.
(c) He was a victim of strong cyclone to lose the movement of his muscles.
(d) He was a victim of diseases that enhances the control over his muscles.
(e) He was a victim of diseases that severely weakens the control over his muscles.

100. How is he doing his works? [Ans: d]
(a) He is working with his wife and three daughters.
(b) He is working with an American association.
(c) He is working with a nurse for twenty-four hours.
(d) He is working with the assistance of a computer and a machine that converts messages into sound.
(e) He is working with research and lectures.




